1.
There is a 94.99% correlation between the temperature and the amount of electrical usage.  This means that there is a strong inverse relationship between the temperature and the amount of electrical usage.  Within our range of data, as the temperature goes up, the electrical usage goes down.
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2.
ŷ = -1.98x + 173.70 (from Excel)
3. Using the data collected it would not be appropriate the estimate the electrical usage at 95 degrees as it is outside of our range.

4. The coefficient of determination, r2, is equal to .9023 (from Excel).  This means that 90.23% of the variability in electricity use can be accounted for by the variability in temperature.

5. Ho: B1 = 0

Ha: B1 ≠ 0

T.S. p-value = 1.36281E-12 (from Excel)
Reject if p-value < .05
Since our p-value is less than the given , we will reject our null hypothesis and cannot conclude that the slope is zero.
6. Residuals output is attached.
Data points at temperatures of 78 and 45 are suspect outliers, as their standard residual values are between two and three.  
7. Residual plot vs. predicted values graph is attached.
The same points that were given in problem six are both potential outliers.  From this information we can be somewhat assured that these data points are most likely invalid, and could possibly be thrown out.
